
Matematika A1
Komplex számok

Megoldások
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3.

(a) 2[cos3 2k1i⋅sin32k1] k 1∈Z

(b) 2[cos4 2k 2 i⋅sin42k2] k 2∈Z
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(c) 4[cos 3
2
2k3i⋅sin 3

2
2k3] k 3∈Z

(d) 8 [cos 2k4i⋅sin2k4 ] k 4∈Z

(e)  23[ cos 11
6

2k5i⋅sin 11
6

2k5] k 5∈Z

(f)
10[cos arccos3 /102k6 i⋅sin arcsin 1/102k6 ]≈

≈10[cos 10
2k6i⋅sin 10

2k6] k 6∈Z

4.

(a) 2[cos2 2k 

2 i⋅sin 2 2k 

2 ] k=0, 1 a gyökök:1i ;−1−i

(b) 1 ;−1
2
 3

2
i ;−1

2
−3

2
i

(c) 2i 2 ; 2−i 2 ; −2i  2 ; − 2−i 2

(d)

2[cos 3
4

2k

3 i⋅sin  3
4

2k

3 ]k=0, 1, 2 2 i 2 ;−1.932i 0.518 ; 0.518−i 1.932

5.

(a) -8

(b) -4

(c) 16

6.

(a) z1,2=3±2 i
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(b) z1,2,3=
31i  z1=1.0840.291⋅i ; z 2=− 1

32
 1

32
⋅i ; z3=−0.291−1.084⋅i

(c) z= 3
2
−2 i

(d) z=0

(e) z=−1 ;0 ;1 kielégítik

(f) z1,2,3,4=1±3 i  z1= 3
2
 1
 2
i ; z 2=− 3

2
− 1
2
i ; z3= 3

2
− 1
2
i ; z4=− 3

2
 1
 2
i

(g) z1,2,3,4 ,5,6=
31±i  z1,4=1.084±0.291⋅i ; z 2,5=−

1
32

± 1
3 2

⋅i ; z 3,6=−0.291∓1.084⋅i
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